SECONDARY SCHOOL EXAMINATION - 2020 (ANNUAL)
Mathematics (MODEL SET)

QI

HA el B FE&A = 95

Total number of questions = 95

gien3fal @ fery fAQer — quiies — 100

Full Marks- 100

Instructions for the candidates :-

1.

TRIeTeft TG LRI Treal W IR < |
Candidates are required to give their answer in their own words as

far as practicable.
<IN IR TR R A gy &ie guife fAfde &vd € |

Figures in the right hand margin indicate full marks.

9 U—UF BT SIFYdd Ye & fo1g 15 e @1 ifaRad w7 fear T 2 |

15 minutes of extra time has been allotted for the candidates to read
the question paper carefully.

g YT UF 31 US| H B Wre—3l Ud Wue—4 |

This question paper is divided into two sections: Section-A and
Section-B.

GUS—3] H 60 RIS U & | IS & fory 1 3fd FeiRa g, o+ & favet
50 Al BT IR <1 TR 2 | T | AfD el & IR Q7 U UH 50
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IR BT Hedidh-1 [HIT TARAT | YT IR SUA BRI T OMR - IR
gFd H 3 T WE g Bl BIel /Aol didd U WY | {1 UhR @t

FTECR /TR Ya1 / &€ / ARIA NS BT IR GRABT § TANT HRAT 77
3rgeI TeTT URemH I BITT |

In section-A there are 60 objective type questions (each carrying 1
mark) out of which any 50 questions are to be answered. First 50
answers will be evaluated in case more than 50 questions are
answered. Darken the circle with blue/black ball pen against the
correct option on OMR sheet provided to you. Do not use whitener/
Liquid/Blade/Nail etc. on OMR sheet, otherwise the result will be
invalid.

GuS—d ¥ 27 oY SR U © | IS & ford 2 3fp FeiRa &, R+ 4
B2l 15 ULl BT IR <7 SIaRd B | 3@ AfdRad 349 @vs # 08 <
SR ved AU U & (U & o 5 3 MR 2), T8 4 fhgl 4 gedl
HT IR AT 2 |

In section-B, there are 27 short answer type questions (each carrying
2 marks), out of which 15 (fifteen) questions are to be answered.
Apart from this, there are 08 long answer type questions (each

carrying 5 marks), out of which any 4 questions are to be answered.
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7. 50 UBR & Selagie UG BT GINT gUia afoid ¢ |

Use of any electronic appliances is strictly prohibited.

SECTION-A (Objective Type Questions)
QGue—3 (G )
U W1 1 ¥ 60 AP & UUd U & A1 IR fadbed Ay U 8, M A
HEl & | fbel 50 Uel & SR < | 307 §RT g ¢ |el fdwed 1 OMR e
DT BN | (50 X 1=50)
Questions No. 1 to 60 have four options, out of which only one is correct.

Answer any 50 questions. You have to darken your selected option on

the OMR-sheet. (50 X 1=50)
210 BT TIHAT TR & —
A. 31aTd B. @rd
C. el D. 579 9 ®lg el
The decimal expansion of 21 is -
A. Non-terminating B. terminating
C. Repeating D. None of these
2. MEUH —
A. aR¥T =T B.amuR¥y ww=n
C. Urdpd =& D. quiish
T is alan -
A. Rational Number B.Irrational Number
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C. Natural Number D. Integer

&1 H&AT31 BT 0[O 15 AT FOH0 105 & | Ifa ITH H Yeb AT 5 & Al G
AT & —

HCF of two numbers is 15 and their LCM is 105. If one of the
numbers is 5 then other number is

A.75 B. 15 C. 315 D. 525
fF=feRaa 9 @ Ry =T & 2

Which of following is an irrational number?

A. \]1-2- B. \/? C. Vi3 D.\ o
fFreforRaa § = fgend |aHieRor 2 2

Which of the followingis’a quadratic equation?

A+ B\X-14=0 B.2x2=2X- ¥
C.x3+4x+4=0 D.x+)l(=

% HT AATH FI & —

The simplest form of % is

(A) 5§ B) 3 ©) (D) 55

el fgara 9gue & Iadl @ AfIHad Hv=m B8Rl § —

The maximum number of zeroes of any quadratic polynomial is.
(A) 4 (B) 3 (C)2 (D) 1

el quites B forg Rww G &7 Wy & —

For some integer P, an odd number is of the form -

(A) 2p+1 (B) 2p C) » (D) p+l

el O &= a1el g7 & 9183 fdg P & 99 wR <1 wef ¥@r¢ PR den PS &= 18
g, afe PR=8 &0 @ PS=

BiharboardQuestionpaper.com



10.

11.

12.

13.

(A) 8 10 (B) 4 &#10 (C) 64 IO (D) 6 |HI0

PR and PS are two tangents drawn from an external point P to a
circle with centre O. If PR = 8 cm, then PS =

(A) 8 cm (B) 4 cm (C) 64 cm (D) 6 cm
IS o, B AR y e ague ax® + bx? + cx +d & IS 8l d

oaf + B y+yo =

If o, B and y are the zeroes of the cubic polynomial ax® + bx? + cx +
d then af + B y+ yo =

(A) (B) —4 () ¢ (D)<

a a a

[ox

&1 WRgeh FHATBRON & STel FHTR AR &, 9 R AHIBIOT & 7 Bl
(A)TH & & (B)Tr &1 ®©

(C) 3Ffiri &1 (D) BI$ &t &l &

The graphs of two linear equations are parallel lines, then the pair of
linear equations has -

(A) One solution (B) Two solutions

(C) Infinitely many solutions (D) No solution

ggUT 2X° - 5x2 - 14X + 8 & YD BT AT BRI —

The sum of the zeroes of the polynomial 2x3 - 5x? - 14x + 8 will be

A 73 ® 5 © ¢ o 3
AR X2 - 1= 0 B il & THRT AT ¥ ?

(A) IRAfA® 3R TTH (B) ar<ifde 81

(C) Ir<Ifd® IR T (D) 7 | PIg el
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What is the nature of roots of the equation 9x? - 1=0 ?
(A) Real and Unequal (B) Not Real
(C) Real and equal (D) None of these
14. afc ABC @1 PQR 99wy et 8 foraH £ZA=420d=m #«\R=80° ar «/B =
If ABC and PQR are similar triangles in whichz A =42° and £ R = 80°
thenZB =
(A) 42° (B) 80° (C) 58° (D) 48°
15. 9gUG Xx2-5% IYLIAD © —
The zeroes of'the polynomial x? - 5 are -
(A) +5, -5 (B).+\5, - 5 (C)+/5,-\5  (D)-1/5, /5
16. RO @ 3x + ky =TT 2x + 5y = 20 & 1fgal 8 89 & forg
K &7 a4 8 —
The value of K for which the system of equations 3x + ky = 0,
2x + 5y = 20 has unique solution -

15
A K= &

\OREN]

(B) K #

C)K =2 (DK =

17.  fa=foRag & o9 99iaR 251 2 ?

NS N[V

Which of the following is an arithmetic progression ?

Qe 1€ =1e 3ie e siifbfaas
(A)0.3,0.33,0.333,. . . . e ST, T T, m_aﬁ;m
UTSshd, Siled, Al ¢ee, dc-31q
By 11,11, .. AR e Tdten vsat ua 3 & ...
(C)2,4,8,16,. . . /BiharboardQuestionpa[fer.com p
(D)O,-4,-8,-12, . :
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18.

19.

20.

21.

22.

g (-12,-12) g are § & ?

(A) ¥ UTg (B) fg<ira ure

(C) it g (D) =rqef ure

In which quadrant does the point (- 12, - 12) lie?

(A) First quadrant (B) Second quadrant
(C) Third quadrant (D) Fourth quadrant
fep=f) iR 2100 & forg f=ferRaa o o9 = | © ?
(A)S,= B2+ (n-1)xd} (B) S, = ani)
(C) (A) T (B) & (D) T & IS el
For any A.P. which-of the following formula is true?

(A) s, = B2a+@-1) %} (B)snzﬂnzi)
(C) Both (A) and (B) (D) None of these

feara IR bx2+ ax + ¢ = 0 &7 fafdedR g —

The discriminant of quadratic equation bx?+ ax + ¢ = 0 will be -

(A) b2-4ac (B) a?-4bc
(C) -4 ab (D) b?-2 ac

Bt &1 &3%a (@ s@rs H) s o0y (-4,0),(0,3) d2m (0,0) &

The area of the triangle in square units whose vertices are (-4, 0),

(0,3)and (0,0) is -

(A) 6 (B) 1

(C) 36 (D) 12
a1 FHarg et 8 8 —

(A) FarTH (B) Ty
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23.

24.

25.

26.

27.

28.

(C) (A) @ (B) =T (D) 7 & BIE el

All equilateral triangles are -

(A) Congruent (B) Similar

(C) Both (A) and (B) (D) None of these

i 9gus f(X) =x2-3x+5 & YRIF aiR b 8, A4 (a+b)=

If a and b are the zeroes of the polynomial f (x) = x? - 3x + 5 then

4(a+b)=

(A) - 12 (B) 12 (C) 20 (D) - 20
FHAR 2ol 5°8) 11, 14, ... & UUH 24 UGI BT ART T —

The sum of first 24-terms of the A.P. 5, 8, 11, 14, ......... is -
(A) 940 (B) 960 (C) 948 (D) 944

fag (5, 5) @ 0 7@ fag & &l -

The distance of the point (5, 5) from the origin will be -

(A) 5 (B) 10 (C)5\2 (D) 245

aff AABC § AB =13 0, BC = 12 XHI0 AT AC = 5 94 @I

0 =7

In AABC ifAB=13cm,BC =12cmand AC =5 cm. then/C =7

(A) 90° (B) 30° (C) 60° (D) 45°
fag (6,10 ) & ®Ifc & —

The ordinate of the point ( 6, 10 ) is -

(A) 6 (B) 10 (C)-4 (D) 16

&1 FARY ST &1 |1 YT 4 : 9 & ITUTd H 8, §7db &Fhel Bl U
T —
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29.

30.

31.

32.

33.

The ratio of the corresponding sides of two similar triangles is 4 : 9
then the ratio of their areas is -

(A)4:9 (B) 16 : 81 (C)9:4 (D) 81: 16
fg A(5,2)3IRB(9,5) & 9 &I g & —

The distance between the points A (5,2 )and B (9, 5) is -

(A) 4 (B) 9 (C)7 (D) 5

AABC # DE ||BC qar % = 3 | gl AC = 15 IHlo a1 AE &r

3
4
Afhe |99 8N

(A)6.43 %0  (B)5 w0 (C)4.43¥%0 (D) 7.23 T¥0
In A ABC, DE || BC and % _ % . If AC = 15 cm. then the

approximate value of AE will be.

(A) 6.43 cm (B) 5cm (C)4.43 cm (D) 7.23 cm
|HIAR 2ol 4,9, 14,19, .............. BT P & 109 T ?

(A) 20 dt (B) 21 dt (C) 23 df (D) 22 df
Which term of the A.P. 4,9, 14,19, .............. is 109 ?

(A) 20™ (B) 21t (C) 23t (D) 22t

?Iilc{tane=% gl dI sin@ &7 99 ©
If tano = 12 then the value of sin0 is
5 13

12 5 13
) 12 ® 3 © 3 O

fdg A(-7,5)3RB (4, 2) % M arell I@rgve & qea—fdg @
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34.

35.

36.

fame & —
The Co-ordinates of the mid-point of the line segment joining the

pointA(-7,5)and B (4, 2)are

A (3, 1) B) (3,7 )
2 2 2 2
(C)(*lz—l,g ) (D)(3,7)

e A B HA18 60° 7, TG 30 HICR BT R BRI DI 4 dTell I&U
AMR @ 3418 © —

(A) %’ o (B) 1s\3@0 (C) 30y3#0 (D) 15 o

If the height of the'sun is 60° then the height of the vertical tower
making the 30 m long shadow is -

(A) \3/—;) m B) 153m (C) 30\3m (D) 15m

a1 G ST Hargl 6 Mo 3R 11 Hio g, FHaA Y R @ 7 | afs @wi
& Tel B G A 0 12 Ho & O P S R B G B g B -
(A) 17 Ho (B) 18 #0 (C) 13 #io (D) 12 #o
Two poles of height 6 m and 11 m stand on a plane ground. It the
distance between the feet of the poles is 12 m, then the distance
between their tops is -

(A) 17 m (B) 18 m (C)13 m (D) 12 m

Q1 G D SABAl BT AU 9 : 1 8 T IAD! (AT BT U & —
The ratio of the areas of two circles is 9 : 1, then the ratio of their
radii is -

(A)3: 1 (B)9 : 1 (C)1:3 (D)1:9
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37.

38.

39.

40.

41.

4,2,5,2,0,3,2,3 % 95D © —
The mode of 4, 2, 5, 2,0, 3, 2, 3 is -
(A)3 (B) 2 (C)5 (D) 4

IS Th g1 Pl TS, disls dAT SdATs A 15 WHI0, 12 AW TqAT

4.5 90 © A ST I © —
(A) 805 2io? (B) 810 io?
(C) 243 A0? (D) 604 AH0*

If the length, breadth and height of a cuboid are 15 cm, 12 cm and

4.5 cm respectively then its volume is -
(A) 805 cm? (B) 810 cm?
(C) 243 cm? (D) 604 cm?

BV 0 dTel BFIEs &1 &9%d 8T —

The area of a sector of angle ¢ will be -

0 2 6
(A) 80 X mr (B) 3gg X270
C) == x271r (D) — X 27
720 180

(1-sinA)(1-sinA)=

(A) sin?A (B) Cos?A

(C) - Cos?A (D) - sin?A

I — SfARTA 110—130 BT T —foEd & —

The Class mark of the class interval 110 - 130 is -

(A) 110 (B) 130 (C) 240 (D) 120
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42.

43.

44.

45.

46.

47 .

tan 57° T 719 BT —

cot 33°
tan 57°
The value of 73300  will be -
1
(A) 1 (B)O (C)-1 (D) 7

TH U1 Bl IR UHh AH AT 37 &Y UTfIdhar § —
In a throw of a die, the probability of getting an even number is -
GV B) 1 c) 2 D) 2
3 2 6 3
&1 TS ameRfa W £ AOB =115°dr ZAPB =

In the given figure £ AOB =115° then ZAPB =

A
0 p
B
(A) 115 (B) 65° (C) 35° (D) 57.5°
5sec’A-5tanlA="?
(A) 5 (B)O (C) 1 (D)6
U AfR¥Ed gear & gilRiear 1) & —

The probability of a sure event is -
(A)O (B) 2 (C) -1 (D) 1
ferferRaa o @9 cos 300 & SRR © ?
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48.

49.

50.

51.

52.

Which of the following is equal to cos 30°?

(A) cos 45° (B) sin 6Q°

(C) tan 30° (D) cos 60°

FfIRaT 5 ®IF B gy &1 /19 78l 7 ?

(A) Sgefd G EIEES

(C) 91 faerer= (D) Hre"

Which of the following is not a measure of Central tendency?
(A) Mode (B) Median

(C) Standard deviation (D) Mean

sin?® X Cosec 9= 7

(A) sin® (B) cosecH (C)O0 (D) 1
<Y Tfeedt ot ) S wet Yl @) e ¥ —
(A) 3 (B) 2 (C) 1 (D) 3 =T

The number of common tangent lines of two intersecting circles is -
(A) 3 (B) 2 (C)1 (D) Infinite
Al o = p =45°T sin (o + B ) BT A9 BT —

If o =B =45° then the value of sin (o + B ) will be -
A ®) 1 () 0 (D)
faU g arpfa | x &1 749 B8R —

N |—

(A) 10 Ho#lo (B) 16 Ho#lo (C) 6 00 (D) 20 o0

The value of x in the given figure will be -

BiharboardQuestionpaper.com



53.

54.

B &<—T10cm > R £ 6cm ——= C
(A) 10 cm (B) 16 cm
(C)6 cm (D) 20 cm

U g @ SR BT ATH 10-H0H10 3R FHDB! SHaTs 12 HOHIO 7, Al 2 Bl

I & —
(A) 400TT HHI0® (B) 3007T &#HI0°
(C) 2007T ¥HI0° (D) 1007T ¥HI0°

The diameter of the base of a cone is 10 cm,and its height is 12

cm, then the volume of the cone is -

(A) 400 T cm?® (B) 300 1T cm?

(C) 200 T cm? (D) 100 T cm?

afe ot @1 ot 164/2 o &, @ T B g B darg Bl -
(A) 16 cm (B) 4 cm

(C) 44/2 cm (D) 256 cm

If the diagonal of a square is 16\/2 cm then the length of the side

of the square will be -
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55.

56.

o7.

58.

59.

(A) 16 cm (B) 4 cm

(C) 44/2 cm (D) 256 cm

If& sin P =sin Q@1 P 3R Q =T 1T & @l —

(A) P =Q B)P>Q
(C)P<Q (D) 5T BIE 7

If sin P =sin Q and P and Q are acute angles , then.
(A) P =Q B)P>Q
(C)P<Q (D) None of these

r f31 Q1 h HATS aTel I B THYS BT A (I FHIS H) BN —

The curved surface area (in sqg. unit) of cylinder of radius r and
height h is -

(A) Ttrh (B) 2 mtrh

(C) 47rh (D) Ttr2h

14 JHI0 ST dTel T TGSl BT God T &Fhel BRI —
(A) 14770 FHI0? (B) 19870 HHI0?

(C) 4887 THI0? (D) 3967T HI0?

The total surface area of a hemisphere of diameter 14 cm is -

(A) 147 1T cm? (B) 198 T cm?
(C) 488 T cm? (D) 396 T cm?
cos (90° - A) =

(A) cos A (B) sin A
(C)-cos A (D) -sin A

. OR _
fev v A PQR 4 PQ

R _
In the given A PQR, % =
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(A) tan a (B) cot a
(C) sin a (D) sec a.
60. 0.47
A = (B) 4 c) & (D) 2

UTSAH A, anm mézz az-smaﬁz
AfRPs Uten s U= 32 & f3C...

/.B iharboardQuestionpaper.com ,.D
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Gue—q
SECTION - B
(R g uwe)
(Non Objective Type Questions)
Y SR U
Short Answer Type Questions.
U G 1 ¥ 27 g ST 2| 62l 15 YTl @ SR < | IAD D
fog 2 s feiRa 21 (15x2=30 )
Question Nos. 1 to 27 are short answer type. Answer any 15
questions. Each question carries 2 marks. (15x2=30 )

1. R e R sfbar Ry aatee R R e ui s L o e
TR ¥d AT 3rfd Mt |
Without actually performing the long division, state whether the
rational number % will have a terminating decimal expansion or
non-terminating repeating decimal expansion.

2. IR IgUE X2-X-(2k + 2) &1 P D X = - 4 Al K BT A S B |
If x = - 4 is a zero of the polynomial x2- x - (2k + 2), then find the
value of K.

3. 192 Pl MY OGS & UMK & wd H Fad DI |

Express 192 as a product of its prime factors.

4, fgard waRor 100x? - 20 x + 1 =0 & Ha & BT |
Find the roots of the quadratic equation 100x2-20x+1=0.
5. AR 2ol & v IR ug faRay afs god ug a = 4 @R drd—idR
d=-3
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Write first four terms of the A.P when first term a = 4 and
common difference d = - 3.

Rig #IRTY 5 3V2 vo suRda s 2

Prove that 312 is an irrational number.

fr=ferRad

[N

& FHIDIUT JTH Bl A BN —

~y

Solve the following pair of linear equations -
XxX+y=8, X-Yy=0.
Jgfders fauTeT TR &1 UART R 135 TAT 225 I HOWO fwepTed |
Using Euclid's division algorithm, find the H.C.F of 135 and 225.
2x2 + 3x + 1 BT X # 2 | 97 g |
Divide 2x? + 3x + 1 byx + 2.
e T FHGR 107 BT YA Ug 5, AIGsiaR 4 AR 3ifad ug 205 28I, ar
FHIAR S0 & UaT Bl H&AT A BT |

If the first term of an A.P is 5, the common difference is 4 and
last term is 205, find the number of terms of the A.P.

U fgard ague Sid BT f7de e 8 3R -16.2 |

Find a quadratic polynomial whose zeroes are 8 and -16.

X & A4 Fa i o\ forg fag A (-3, 2) 921 B (x, 6) & 9/ &1 g
25 3PTS o |

Find the values of x for which the distance between the points
A (-3, 2) and B (x, 6) is 25 units.

fpdl A ABCH a1 fa=g D dorm E wwen: goisil AB @2 AC WR $9 ISR ©
f» BD = CE @err /B = £C, o' Rrg R f% DE||BC

In anyA ABC, two points D and E are on the sides AB and AC
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14.

15.

16.

17.

18.

19.

20.

respectively such that BD = CE and £B = ZC then prove that
DE || BC.

39 g & freens ia $ifsg o fad=get A(2,3) 3k B(4,5) @l
ARSI dTel XERIUS BT 2 : 3 & AU H AT el 2 |

Find the co-ordinates of the point which divides the line segment
joining the points A (2,3 )and B (4, 5) in the ratio 2 : 3.

ud 3yet ABD # ZA swa@Tor @em ACL BD 5@t C, BD R &, @ Rig @
f AC? = BC . DC.

In AABD, ZA'is right angle and AC_L BD where C lies on BD then
prove that AC2=BC . DC.

afe 1500t6=8ﬁﬁ|@’aﬁ1%5cose=1§7.

If 15 cot 0 = 8 then prove that cos 0 = 1§7

IS U IAGIATPR W BT AT 14 JHI0 BI, AN IHDI &ABS AT DI |
If the diameter of a semicircular field is 14 cm then find its area.
U fag QA UH gd UR TRl XGT BT AT 24 FHI0 TAT Q B s
25 9HI0 &, T g @ FBrear | wY

From a point Q the length of tangent to a circle is 24 cm and
distance of Q from centre is 25 cm. Find the radius of the circle.
Rig & P

Prove that

I +cosA _ 1FcosA
1 -cosA SinA

21 0 AT aTel g BT U =9 dbes UR 60° BT HIVT AT BRal o, Al
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21.

22.

23.

24.

25.

26.

27.

AT B TS ST DN |
In a circle of radius 21 cm, an arc subtends an angle of 60° at the

centre then find the length of the arc.

sin’30° + tan’45° &1 7 S BITT |

sec?30° + cot?45° . a0 )10

Find the value of SI30° + tan*45"
sec?30° + cot?45°

FfeIRaT sifdhs &1 Igadd o o —

qTich 0—20 | 20—40 [ 40—60 | 60—80 |80—100

BT P Ge=T 5 6 16 | 12 11

Find the mode of the following data.

Marks obtained{0-20|20-40 | 40-60 |60-80 | 80-100

No. of students| 5 6 16 12 | 11

afg A, B @ik C, AABC & 3id: SIvT 31, a1 Arfdd dIfere b

cos (At By=gin €
2 2

If A, B, and C are interior angles of a A ABC then show that

cos (A;ZBF sin Qz :

BT YHR W Bl TS 52 T dI Uh T § I U G, fhTal ST © | T

[ BT KL YT B Dl UIHAT S D |

One card is drawn from a well-shuffled deck of 52 cards. Find
the probability of getting a king of red colour.

f=ferRad 3ifers &1 " 18.75 €, Tl K &7 |19 Sd & |

The mean of the following data is 18.75 then find the value of K.

X 10 |15 | k 25| 30

f 5 10 | 7 8 2

fgamia agua 12x% - 20V3x +25 & YIS Sd o |
Find the zeroes of the quadratic polynomial 12x* - 20V3x + 25.

A et |
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Find the Value.
3 sin230° + 4 co0s?45° + 3 tan?30° - 6 cos260°

CEEEGHHEI LS

Long answer type questions

U3 A&7 28 § 35 dP <t ST U 2 | fb=f 4 g4f & SN < |
gd® @ forg 5 3w faerifRa 2 | (4x5=20)

Q. No. 28 to 35 are long answer type questions. Answer any

four questions. Each question carries 5 marks. (4x5=20)

28.

29.

30.

31.

Udh Hlex die, SaarRer oTa § a1 18 fdo /€T ©, 24 fHHo uRT &
ufraet ST H, 981 R GRI & 3del S & 37Uel 1 ©eT Afdd ol 2|
&R DI AT ST DY |

A motor boat whose speed is 18 km/h in still water, takes 1 hour

more to go 24 km upstream than to return downstream to the
same distance. Find the speed of the stream.

JTerdy Ay & 81 dN —

Solve graphically -

2x-2y-2=0, 2x+y-6=0

g BN b T AABIOT [T H BT T a3 WY QT YoTiAl & af & INT &
RER BT © |

Prove that in a right triangle, the square of the hypotenuse is
equal to the sum of the squares of the other sides.

T TS BT &% SId difg s oY s %4 % (3, 0), (4, 5),
(-1, 4) 3R (-2, -1) g1
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32.

33.

34.

Find the area of a rhombus whose vertices are (3, 0) , (4, 5),
(-1, 4) and (-2, -1) taken in order.

Rrg X & —

Prove that -

(sin*A - cos*A + 1)cosec?A = 2

Td 3 ST 120 |10 $dT1g 31 60 WHI0 ST arell Tah ¥id; |fford &,
ST 60 TR0 P37 aTel Tah STgTITel UR STRITUT © | $9 o1 &I Ul I 9N §U
TP ofd g 9o H 39 UDHR W Sd & Sar © o a8 9o @t el
DI T BN | A& I BT AT 60 THI0 © TAT HATS 180 0 © AT dol
# 99 g9 U BT ¥ S BITT |

A solid consisting of aright circular cone of height 120 cm. and
radius 60 cm. standing on a hemisphere of radius 60 cm. is placed
upright in a right circular cylinder full of water such that it touches
the bottom of cylinder. Find the volume of water left in the
cylinder, if the radius of the cylinder is 60 cm. and its height is180
cm.

U HEATER SIS W T2 Udh 50 HIeR $dl HMR U 8 afas o i) Rera
2 AR @ Y ¥ W™ & SR dAT e RR & @1 BIvT B 30°

qAT 45° 8, AT ST W™ B SHaTs sd o |

A vertical flag rod and a 50 metre high tower are situated at same
horizontal ground. The angles of depression of the top of the
tower from top and foot of the flag rod are 30° and 45° respectively.

Find the height of the flag rod.
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35. 7.6 W0 a1 Ush v@EE WifHY iR 3 5 : 8 3rgura H fawrford HIfi |
Q1 |II BT 1MUY |
Draw a line segment of length 7.6 cm and divide it in the ratio

5 : 8 . Measure both parts.

faere §1¥'® a1e 3k era siffhfdas
T Uue, ATess Que, 3fice-6l,

UTSaehd, siied, dlleh eec, Ae- 31T 34T

UfeR &b udta usst u= 3fe & fAe...

a
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